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1 2| 676
2 2| 37 75
3 2| 22 1
1 2| 264 53
5 2| 3w 764
c 2| 3@ 7%
7 2| ™ 1550
8 i e 12
o 2| 4% 86
0 2| e 3%
1 2| 22 prr
2 1| s 505
3 1| e i
i 2| 115 2270
5 2| o
6 1| 1 12
7 1| g2 120
8 2| s 1036
9 2| 51 e
0 1 e 1%
1 762 1524
2 180 b7
3 192 768
4 18| a2 7416
5 266 52
5 414 73
7 380 1520
8 129 12
o 2 8%
0 22 46
a1 217 554
a2 a2 2222
e 168 3%
" 205 410
b 200 800
a5 220 400
a7 565 2250
4 577 2308
9 260 52
0 272 54
1 654 1308
2 188 375
3 21 a2
4 2 5%
5 270 50
5 3 8
7 21 a2
8 a1 83
o 4 853
0 2 47
1 275 55
2 1| e 17
3 2| a1 82
4 2| 22 o
5 HE 564
6] 1 527 1084
7[ 1 32 1288
8 10 1604
o 7 1470
0 38 760
71 1 8e8
7 14 140
7 5 1010
7 7 1532
el 2 2%
i 2| & 1620
7 il s 3w
i) 2| 5% 1070
79 i e 197
0 1o 2| 208 108
1| o 2| 5% 1198
2| 0] 2| s 1204
3|10 1] 20 204
4| 100 i e 181
5 1 2| se0 1320
6| 10l 2| 4w s
7|10 2| s 1006
8| 10 2| e 1858
9| 10, 1| 2 205
of 1o 2| 83 1668
1 2| 1082 2164
2 il 1 2908
3 3| em 827
| 1o R 23
5( 10, 1| 2z 22
6| 10 2| o6 1334
7|10 2| s 1036
8| 10l i et Tt
9| 10 2| s 1156
100|100 il 10 424
101|100 2| 157 1514
02| 1 i| es 364
10| 100| 10| 372 a720
104|101 2| 2 a5
106 | 10 2| e 638
108|100 2| 735
107 | 101 2| w0 610
108 | 10 2| w7 73
00 | 10 8| zo1 ar2e
0 2| ot 1228
1 il e 1788
2 2| 5o 1012
3 i as 453
4 2| 5w 1000
RESUMO DOACO
AGO | DIAM | G.TOTAL [QUANT = 10% PESO +10%.
(om) | " (m) ®aras) &)
CAgD 5 365 A 95
0| s004 a7 2211
00| sies 8 3525
g0 0 1032 o 175
PESOTOTA
(g
cao 585
caw 178

Volme s concre (C-25)= 1014 m”
Area de forma = 219,48 m




